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2 Calculate the value of  2(sinl5°)(cos15°).

E

‘Write down the next term in each of the following sequences.

@ 82, 62, 42, 22, 02, ..
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Answera)

L)

o

®) Simplify AX™.

Answer(b)
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Answer(a)

o

(b) the number of lines of symmetry.

L 2l3487
0 i1 133
56

‘The answer to this matrix multiplication is of order a x b.
Find the values of @ and b.

3 Workoutthe valueof 1+ —2—.
1+5+6
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o) )

Calculate the value of 5 |A| + [B|, where |A] and [B| are the determinants of A and B.

2

Answer

7 Shade the region required in each Venn Diagram.

k3
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9 Solve the simultancous equations

Gxtlsy = 57,
2- 3y = 8

10 The braking distance, d, of a cari directly proportional to the square of ts speed, v.
‘Whend=5, 0.
Find d when v=70.
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2 A.(l ‘).

@ Find the 22 matix . such hat A +P=(9 0.

(b) Find the 2 x 2 matrix Q. such that AQ

0,

=
E
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(@) Write 5. single matrix
@ C-3p,
Answera)i)
2]
@ cp.
E
Answer(a)(ii)
&)
(b) FindC™.
Answer®) i
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